Blizzard Bag Assignment #7
Calculus
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1. Evaluate: lim =2
X—5 X—5

A. O B.5

2. Evaluate: lim 6x2 —5x+2

X—>—2

A. 16 B. -12

Name

Block/Date

C. 10 D. None of these

C. -32 D. 36

3. All of the following explain a non-existent limit (at x = c) except...

A. f(x) approaches a different number from the right side of ¢ than it approaches from the left

side.

B. f(x)is not definedat x=c¢
C. f(x) increases or decreases without bound as x approaches ¢
D. f(x) oscillates between two fixed values as x approaches c

4. Name two mathematical problems that require calculus in order to solve them.

onw>

5. Evaluate: Itlrrol S")[—?’t

6. Find: IirT213x2 +5

A. 41 B. 17

7. Let f(x):{ .

a-3x, x<2

X7, X>2

Constant velocity and the slope of a curve

Area of a rectangle and the tangent line to a circle
Area under a curve and instantaneous velocity
Tangent line to a graph and slope of a line

D Undefined E. ©

Wk

c. 1 D. O E. None of these

Find the value of a so that the function f is continuous for all real numbers.

A 8 B. 10

C. -8 D. 14 E. 76 F. None of these



8. If IXiLTle(X)=—% and IXiLrC]g(x)zg,find |X|m_;g;

A -t B 1 c. -2 D. -3 e 3 F. None of these
3 3 4 4
9. Evaluate: IimsmgX
x>0  2X
. 2 3
A. undefined B.O C. — D. — E. 1
3 2
2
10. Evaluate: lim X 23X*2
x>-1  x°+1
A. 0 B. w C. -1 D. Does not exist E. None of these
w_n H |X_a| H H |X| H
11. If "a" is a constant, then Ilmx—als... (Hint: remember what the graph of Ylooks like!)
A. Undefined B. a C. -1 D. O E. 1
12, Find limYX*4=2
x—0 X
A 0 B. # C. » D. 1 E. None of these
13. Find lim ——
Xx—2" X —
A. B. -o C. 0 D. - % E. None of these

2

14. Find Iim(2+£J
x—0 X

A 7 B. 2 C. © D. O E. None of these



15.

16.

17.

18.

19.

20.

2 J— j—
At which values of x is f(x)= LXZP’ discontinuous?
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A. 2 B. -1,2,3 C. 1 D. -1, 2,2,3 E. None of these

Let f(X) 1 and g(x)=x*-5. Find all the values of x for which f(g(x)) is discontinuous.

x+1
A. -1 B. -1, +\5 C. +5 D. -2,2
: . . . . -2, X<5
Determine the value of ¢ so that f(x) is continuous on the entire real line when f(X)= X—3 X>5
6 5
A. 0 B. c C. 1 D. 5 E. None of these
2X+3
Find all vertical asymptotes of h(x)=———
' ' yme ) 2x* +x-3
3 3

A. x:—z,x:l B. X:_E C. x=1 D.y=1 E. None of these

Find lim >
x—1 (X 1)
A O B. -oo c % D. +oo0 E. 5 F. None of these
x4 X< 2
Let f(X)={ x+2° , Which of the following statements must be frue about f(x)
x-1, x=2

I. Iin; f (X) exists

II.  f(2)exists

ITTI. f(x)is continuous at x = 2

A. None B. I. only C. IL.only D. I.andII.only E. I,II, and ITIT.

21. If g(x)=3x"+4x-7, find g'(4)

A. 57 B. 21 C. 40 D. 28 E. None of these



22. If y=tanx—cotx, then %=
X

A. SecXCscX B. SecX—CsCX C. SecX-+CcscX D. sec? x—csc? x E. sec? x+csc? x

23. Let f and g be functions such that f(2)=4, f'(2)=6,9(2)=2,and g'(2) =-5. If h(x)is the
product such that h(x) = f (x)sg(x), then h'(2) =?

moo®>
(@]

24. If y= 2X+3,thenﬂ=
3X+2 dx

12x +13 g 12x-13 5 -5
(3x+2) (3x+2) (3x+2) - (3x+2)

25 Iim(tan X+h)—tanx o

h—0

A. tanh B. sec?x C. 0 D. secxtanx E.

NG

26. If f(x)=2x*+4,which of the following will calculate the derivative of f(x)

[2(x+Ax)2+4}—(2x2+4) (2x2+4+Ax)—(2X2+4)

A. B. lim
AX AX—0 AX
2(X+Ax) +4|—(2x? +4 2X% + 4+ AX)—(2X% + 4
C. Iim[ ( ) } ( ) D. ( ) ( ) E. None of these
AX—0 AX AX
27. Differentiate: y:1+COSX
1-cosx
A. -1 B. —2cscx C. 2cscXx D. ﬂ E. None of these

(1—cos x)2



